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8 A man aid to 3 lady, “your mother's husband's only brother is my uncl
tady relitad to the man 7
LAY Nister (B) Mother
) Granddaughter (D) Daughter
= ol 3 om | R T ~gwrﬁnfasqma¢wmﬁwﬁﬁ‘tw’s‘ ", e,
gt} d R e
() (B) i
(C) o (D) T @‘ﬁ
9  The sum of odd numbers from 1 10 Jlis:
| & 31 &5 9 fraw weaol = 3 k-
(A) 250 (B} 243 .
(C) 243 D) 256 R
10 The difference benween the cost price and sales price of an article is
profit is 23%. then the sclling price is :
B =g 1 FT T AW s 7 & orIT T 360 % |aft T 25% %, @
(A) T 1.600 woger @) Tl
(C) T 1700 (D) T 1,800
11 Which number will replace the question mark in the following series
29 @ vow B g ¥ uraEs foe @ e s
0.3 815 2.7
(A) 36 (B) 42 "
(©) 28 ©) 35 [
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In an election between two candidates 85%, of the voters cast th
which 5% of the votes were declared invalid A candidnte got 17
were 0% of the 1otal valid votes. ind the 1otal number of vole

clection

T QAT @) Tl 4 P gm RS T 9 | T R St T W
T anftrmr W Ay wa) % RO, w frm, o 17442 e TR Y
W wEn w #fm

(A 23.000 (B) 21,000

() 27,500 () 27.000

In the following choose the alternative which closely resembles tl

the given combination,

fameai & & o7 fameg g3 @ fr 61 f o= g & T

fererem AT R |

ab4s5CDn6

(A) sPtiCDe (B) ePreCD9
(1) aP=2CD¥?

(C) skracpe
International Booker Prize-2022 has been won by -

(A) Brandon Tailor (B) Geetanjali Shree
(C) Douglas Stuarn (D) George Saunders
TR gt Ea-2022 fea® zra wm T ?

(A) === ot (B) === a'ﬁ_

(C) =7va g (D) =rst @rE=a

Winds circulation in an anticvclone in the Northern Hemisphere
(B) Parallel to Isobar

(A) Anti-clockwise

(C) No Circulation . (D) Clockwise )

T TARH ¥ Whigwerd 3 99 w9 #) faEn T ¥
(B) ®9=@ @& 3

(A) =€l & g3 & fauin

(C) @ daww (D) @i @1 §F T F3

Which of the following district of Bihar is a biggest producer o

(A) Nalanda (B) Rohtas

(C) Bhagalpur (D) Muzzafarpur

frefafaa 7 @ faer & A fAeT S6l & 999 7271 AT € ¢
(B) eam

(A) =re=1
(C) Wy (D) Fowmigl @

Value of 0.04 + /0.0025 is :
7

J0.04 + J0.0025 @A ¥ |

(A) 0.03 (B) 0.018

(C) 0.003 (D) 03
g
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{A) 3
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15 e sum ar
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f", -R 1‘_‘3”

e of the Youngest child ?
; Mean (B) 9 years
!;;} 12 vears (D) 5 years
T W &
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(A) 8
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@) Swm [
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0 cae mber that wijy divide 6, .
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(1 Social Keforms

Wive J e f
T e fam 4 !;‘::I;h;ru;g

tAY e Suind !
~ (i) mitr v
1Y wymmfa; e (m m{g"‘h}-ﬂm L L hlﬂ

A C e
e -:'I-u:ntu_ SN together T 300 per day while A and ‘Ccarn together T 177 and 1 and
C0 eether T 162, Then daily eaming of C 4%

A B C U5 i fiersy ofefes £ 300 wmd ¥ s Akt C e T 177w ¥ A

O ST C T T 162 e b, 1 C o S w3 e
(A T 40 ' (B) T 68 i
(C) T 112 (D) T 39 R
A1s heavier than B. Cig lighter than D, E is Hévier than D but lighter than E
Who among them js lightest 7 e

ABRYAE C D8 gom ¥, E.D @ wrhl 3t B & v ¥, @ o8 A w2l 7
wE R ? a fif> e e

(A) C (B) A

(C) D () BN

Where Ii ,th: 2024 Olympies going to be held 7

(A) Beijing (B) London

(C) Paris (D) T@u

2024 =1 afteiftrs W s W 2

(A) #ifsn (B)

() 4w D) L.

Find the remainder when 289 is divided by 89 7 OO

289 =1 89 & fernfd &1 9T Srowe = M 7
(A) 2 (B) 87
(C) 88 D) 1

In a certain code *RAIL’ is written as *5796" and €PAPE' is written as *3748",
L)

i1s ‘PAIR" written in that code 7
s WH & ¥ RAIL %7 *5796° fror omen % @ﬂ'ngPEmT *3748" fran W

TaaEH 'PAIR'FR frm e ¥ 7
B) 3793

(A) 4785 i
8795 D) 4
(C) 8795 (D) S

Upto which element, the Law of Octaves was found applicable ?

(A) Calcium (B) Cobalt
(C) Potassium (D) Oxygen

firm Teg % NeE o fraw @ g Tar f
(B) FmEwe

(A) Hfearad 2 -
(C) trRmm (D) ofedor [
9 [¢
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a famlly is 124 years..

44 The sum of the ages of the five members i e of their pareni

chilidren nre in the mtio 3:4:5, while the combincd 0

” . T “the 1 y v
q:;ﬁ;r;:rﬁﬂ;r;nuuyv}rii;:;'w dr 124 TE b ofr aeelf W I F

(A) 12 —in (B 13 :
(C) 14 ) 8 b r
ot
25 Fig (a) and (b) nre related in a particular way. Establish the same re
et () from the given elicrnatives.
Py waTe Rrw (), (b) & e §, e et () e () F R R ma fa
ot @y e

EEEE

m () (N

oo
o £ o

co
26 For what value of *P*, tHiOnumber 45589P6 is divisible by 8 ?

‘P* % frm W % Pro SEANISS89P6, 8 @ Fomw & 7
(A) 8 (B) 6 "
(C) 5 D) 7 b
27 Which number should cémt next in the given series ?
& 7 sfEwr A ool WegrST | o Wy ?
2, 4, 6,10, 14, 20, 2
(A) 16 o) (B) 26
(C) 22 o0 (N) 14

28 What will be the next figre to replace the question mark ?
w7 fow ot w2t & frg ampy w | e 7
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e Mk ABOWS 4%, ';}:;.-:; is the real time in g
oAyt threenefy @ s, & W ! ; 3 mrafas T/ Owg T
e L | 39
T # T oy wr cvsr O48 FEI T 4 217 y

o) %15 [

i) 9>
AN Pt Amendnsent Acz 1951 - hih Schedule

-

(€ 248
(A Included some more Acts in e F
(B) Addad Ninth Schadule. T
(C) Includad new subiovts in the URROE 00 _
(D) Readiuszad the ,,1.;_:3 of pepnesentation N the Lok Sabha
T wytew ST 19S1 T )
(A) &= 552 5 7 3ﬁa&fﬁmaﬂtﬁﬁﬂﬁn§|
(B) :AF sggorsr=moar! :
(C) wotg o & 7= fAve = e ma -
(D) ssewr ¥ chfrte & agem ® gRAEa fear T Ry

39 Natural ageine of a l=ke by nutrient enrichment of its water is called as:
(A) Eﬂtl{‘pfll‘:*ﬂtfﬂﬂ (B) Dﬁ:nmpaaiﬁnn

(C) Reduction (D) Biomagnification
79 ¥ O9E §Ohs IO ET & Sipe® smowea (afs) zoi &t fasar & &5
(A) ge==r (B) &wwed
(C) w=g= (D) J= g
40 Which team has won the maximum IPL ttles ?
(A) Rajasthan Royals (B) Chennai Super Kings
(C) Kolkara Knight Riders (D) Mumbai Indians
FHT §7 &7 §AW U NGO, T2 il & 7
(A) T A (B) @=¢ gt f&mw
(C) =i e T=d (D) 7% =Ew

{1 Duties of the Chief Minister as a principal channel of communication betwe
Governor and the Council of Ministers are mentioned in :

(A) Aricle 165 (B) Article 166

(C) Anicle 167 (D) Anicle 164

TG UF Hia9i(93 & 419 6915 & 9@ a5 & &9 ¥ §67 9N & HdAl @& gooie
(A) sz 165 7 (B) sg=z 166 %
(C) 3qes7 167 7 (D) =T 164 § g

] &7 10 [ Cor
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iA) w“';" '-I.r;-: PR Sttt ented B O Conhition of Tl ¥

L T A R LU (T (T L 8 W52 Agieaiaen) o |
TN T XA (Wil 52 Agendien) In |

it o, ULITE
LTI nopef ”'I""," AN TR TG

(AL e "

rr»;r lujf‘. :.r NARLIUER W LTI R e LT LT T

D A Wy o (1) 1074 W0 520 abafiven Ay agpe
Wt oy, I.'"” Hasdre® ) . ’

i'-"\IJ ."'ﬁ.ru.un-.«-h,,l W I ot by ; (18)  Awierrds

H' l. a"hmm.-,,';.,,,, (1)) Wiedwrvwl

it ¥ (oh®ltotiig) sy o

(A) 1he il ' ' () el

() ety (1) ii'r}HM-'

I’l}r ll:nl OBy 1o g recopnlilon (o the povernment ol Banglodenh o

tt'} Iluhhlnu (1Y) Runsln

Lu}ﬂf lili | (1) tndin
WIKEIUEE T | W Y g wen wee &y

(A) il (1) wn

(') i (D) Wt

r:::‘lilrll:llri:”k" T lrom ihe lop In o clngn of 52 students, What s his i
52 [enlvist o) moan 3t ftqer s 4 164 e oo b 0R D s W
(A) 20 (13) 34
() 17 (1) 20
Regulation of' u 24 hours (diurnal) rhythm in human body is done by wh

mdl is weereted by whicly plund 7
(A) Hunluluﬁ*lulin. hypothalumus (13) Proluctin, pincal gland
(C) Melntonin, pineal glund (D) Vosopressin, ndrenal gl

B 910V ) Afves v (24 16%) % Fraw o e vl @ @ W BT @

v fgm A 4 e & 7
(B) wrifez, fubrow iy

(A) uriEiRfm, wgdddm .
(C) Fxafr, ffre iy (D) 2w, ohee Ay §

Conxider the following statements nbout Attorney General of Indin -
(1) e is appointed by Chiel Justice of India.
(2) e gives ndvice 1o Government of Indin on legal matters.

Which ol these stulements are correet ?
(3) DBath (1) and (2)

(A) Only (2)

(C) Neither (1) Nor (2) ' (D) Only (1)
wrta % werraa) @ et Prafafea FeE o R w5t -
(1) =& wta & qeg =gy Zra Fgw sy |

(2) & Wa G & fafa e Pt ot e dm oy

T suA A mA a e ¥ 7
(B) (1) ol (2)

(A) %aw (2)
(€) (1) a7 (2 (D) ¥Fam (1) B

11
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§ { wolosars jv enlleed
i [eviation

(1 Reflection

Fhe spdittings o dight inter ity componen
(N Refinetion
it .l"lnru'hmn

vt b owand) aml o fawrer w) wea ¥

(A ommita (ny freed
() [reynm (1) et E!E'

19 0% ot X is added 1o X, Apain 9% ol the result is added 1o the result,

meltiple of X in the final answer ? . .
N % X ey oy B o foe aftoy @7 9% SO ST A g, A

N w1 @7
(A) 115,54 () 11.554
(') 11554 (D) 11554
S0 Which of the following word has been picked by Oxford University P
Children's Word of The Year 20217

(A) Viaceine (B) Anxicty
(C)  Perseverance (D) Vax o
Frefafian o @ Rq orer @) oifeerd givarad 9a a0 faee 92 @i 7
fora mar % - *
(A) A= (B) Tl
(C) yrefrat=n (D) ¥ 38

J.l' + H_lr i-r i — 2 ?
e T

51 What is the value of .
r -2y =}

Jr 4;‘*‘_|- &1 ur1 w1 AR, AR e

x -2y 2y
(A) 10 . (B) 13
(C) 11 (D) 12

52 Which of the following sector of transport of the country contributes highest
value addition ? -

(A) Road Transport (B) Air Transport

(C) Water Transport (D) Railway

Brer & @ @Y1 ar & 291 & 9igeT & g%d Yoddu+ § Gaiyus QUaEr & & 7
(A) @5 gftaes (B) g ufge
(C) wre uftasT (D) Y= By

I Select the diflferent figure from the following -

Frer 71 % orern (=) g @ g -

(A) (B)

) M A
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I in any code language, ‘GrOUP" is written as ‘BNLSO’, then how i
written in the same code language ?

o T Fiaken T -GROUP” & *BNLSO" foran T %, <t <
“TIGER” =1 &3 formgp Ty oy

(A) OEDBA (B) OEQCD

(C) OECDA (D) QEDCQ

In a certain code language ‘WATER’ is written as *1#352" and ‘ROSE’ i
"2%45". how is ‘SOAR’ written in that code language ?

Feeit Frf¥ea 2 wmar & “WATER' = ‘1#352" ferar wmen ¥ ofiv ‘ROSE’ &t *
T E, WS FZ wmm F SOAR® 5t B foram =mm & 7

(A) 3%24 (B) 3#%4

(C) 5#2% (D) 4%i#2

Powers. authority and responsibilities of Panchayats are provided in :
(A) Aricle 243 E (B) Anicle 243 F

(C) Article 243 G (D) Article 243 D
YETgdl @ ST, WREN e saveitaE @ waaE Bem T

(A) T2 243 5 § (B) ﬂjﬁhzﬂr}ﬂﬁ: =
(C) I3 243 B (D) sgm 243w [

P. Q. R and S are playing carom. P and Q are partners. S faces 10
[f P faces towards West, then who faces towards South ?
PQRamSEFW A w € | Pawm Q widl € | S &1 <= oot &) 7w
ﬁmw&mﬁmtaﬁdﬁwaﬁmﬁﬁaz;‘wg% ?

(A) R a2
(C) P (D) Q %
13
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y profloR’ ?
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L T el A
e ms . wnlve W ot
fent gt pwvlee oy 1 y did e 80 el fisit 1
0 A sl TR mull__ et 'Irﬂ
priblens ;H "k ey o) fwd et
URLE RN OE

mn 7 i oA
st e fwet e arer 1o |' () M
o

(n 17
A In
() 19 - Myanmar Simn
¢ ol Myann T
o0 Whar was the old pinne o (f.l'” Anpori
A B
(1 Nangi ? ey .
. T o (13) 191 :
lﬂ;f:l"l'l:t:" e WM (D) afimir %
(C) wi)
61 Choose onr the odd one, 1o
ey wﬁ\?ﬁr{ ! (n) ﬁl'W
(A) JG (n) J'T'.HJ_
() ROU il *EARTII
ST ' how will *EAR)
. “ a oy v . * KJWF ' then TR .
82 It TEACHER' is coded oy *1.M for amen #, @ LA
M Ak s s ' " @ wikfas '
R TEACHER" &) ‘LMKINM
IR Roar ardm 7 3) LMKIN
S MElag i MKPLN
(C) MPKILN
a3

The rclntiunsh:ip between the diameer (D) of the reflecting

surfac
mirror and ts focal length (1) is : .
mmtmm#mmm#m‘ﬁhnqﬁm#mm
(A) D=2y (B) D =yr 4y
(€) D=3 M) D=7
64 The best-known example of is the Mfd-z‘&linmic Ridge
(A) Divergeny Boundaries (B) T ransform il
(©) Folding

(D) Cnnw:rgent Huundﬂri:
B WIR oremy T i
‘_-_‘-_-'-—-___\_
(A) argmr Ll 4

cOntanigg o0 fa dige are shown belaw: Whai Will come Opposite
1% & Rafigs
T e sy HE S ® Rt g
Q&G
(A) &
C) + (B) a
2] .. D) o
14
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Chwsne: Hee Compeny epliomy, whidch b obitained by folding teanspurent sheet along
1hi bl LT

URLLTY i m wendlh e '|i|'.4'.l regr oA, ﬂ--['f‘:'.i]' e e gy o ko F,'rﬂ
Vemmspurent Sheet { urresy vhe

0"
ol
(A) [] I (1) J*]Ej '
() TEI (1) ,Hg
) o | _!

Average monthly income of o family of four caming members is 2 2,640. One
enring member died and therefore nverage income came down to T 2,220, The
much income decreased ?

uTt wNEA am e % afvar 4 o wfes A T 2,640 ¥ ) FEE A e
) e o)k oh gnfem, ol g 2,220 @ w8 0 rE | s fa

(A) T 1,960 (B) T 3,900

(C) T 3,800 (D) T 3,980
'‘Rishi Sunak' is the new Prime Minister of -

{A) Australia (B) Iltaly

(C) LK. (D) Canada

i ww s ¥ -

(A) wfefom & (B) = & g
(C) 35 & (D) w= % [

Which number is subtracted from 77217 to make it exactly divisible by 9
W woar 77217 % werf w5 wrem phow 9 & v o 2

(A) 6 (By 7

(C) B (D) §

Il 'BAT = 58" and '‘SHE = 49", then ‘SOME" will be equal to -
ufy *DAT = 58" @ar *SHE = 49°, 72 *SOME' a7@T ¥ —

(A) 52 (B) 64

(C) 50 (D) 56

I the difference of 3.003 and 2.050 is added to their sum, then what will be
oft 3.003 A 2.050 & &= & I9% oM ¥ AE, @ F=@ g e ?

(A) 1.5643 (B) 6.006

(C) 5.8976 (D) 2.7980

FM2] &~ 15
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Wi i
A
LG I | S 1 of
2o B AL 08 L  the q,,ﬁﬁﬂn m
Find out the number which replies o &5 |
ar wan o @i Preed v R ) 217
(cy 232 .
he jabelled price. Ith ha
5% discount 01 5000 A¢ what price did b

Li )

Turun bought a T.V. with . g

d08h discount, then he would have 5‘:T 1 { ST FE 40% =1 g2

m#wﬂmwﬂjﬂﬂ? - ?

T300 @ Faa v ) o fr;l_’lrﬂjﬂif' @) T17.000
| o) T 15000 [

(AY T 16,000

(C) T 18.800
hous 7
? (B) Glass

Which onc of the following is amorp
(v} Graphite D) Diamond

At 5 4 gt st ?
o doe o
(&b\}i FUTCT T

5, 6 and 7 leaves a remainder

The least number which is divided by 4,
divided by 9 leaves no remainder, 15 -
} i 7 & P &1 WU 3 Srawe s

5-wes B1d woar Praw 4, 5, 6

-
FRw wtf shew 7 amg, ¥ -

(A) 1683 (B) 1690 :
~(©) 1700 @) 1600 B

'[?1? sum of two numbers is 25 and their ratio is 2:3, then the numbers

? Fomat w7 ghy 25 & aar 99 oguw 2:3 &, & wend & -

(A) §, 20 (B) 12, 13

(D) 10, 15

Cy II, M4
2
Q’nrdfng to Kepler's laws of planetary motion, the time period (7) and
e circular orbit of a planet about the sun are related by :

ofdh
& wyi & Promrgere, g & ofte: g @ ¥ we e W 0w S

T
(7, w wHr w3 Py (R) § waw ¥ -
(B) T?=pg?

@) T?=g [

16 [




: grtfiers
MU s the woond whiich s alitherent llnn!”“ ( Innanion
Ay e

(1)) Curoim Sewil
1) Vit

T aver ) mfvy o) gered b orem R (1) arerth

¥
" -‘II :;I..:n (1) SR
. piyen fipure,
NS it oin the number of squares in the given "
fre my fre ) af e 2007 1
1L
(12
()
YR IL
() (1)

§6  Rohit has an average score of 54 in the last 13 mnhf'u'ru.-i. .aj.l'h::
iveraee beoome 530 What was Rohit's score in H:u last maich ?
(A) 34 Runs (1) 38 Runs
(C) 42 Runs () 30 Runs
e & Rodt 15 dal A oftea @it 54 & 1 ot AT & Az IEer off
YA Mt ur ?

A) 3 (B) 38T "
:fﬁ} 4.:' : (D) 307w g
87 When was Mid-day Meal Scheme launched in India ?
(A) 15™ August. 1995 (B) 2™ October, 1993
(C) 2™ QOcrober. 1995 (D) 15" August, 1993
v & frr-2 oier gt ey aow Bt 7E 7P
(A) 15 o, 1995 (B) 2 oz, 1993
(C) 2 aegar, 1995 (D) 15 s, 1993
88  Which of the following varieties of coffee is produced most in India
(A) Arabica (B) Liberica
(C) Brozilian (D) Robusta
AT & & 9 e @t fee @1 oM N § a9 oifts g & ?
(A) artfasr (B) ferafemr
(C) arfiferas (D) T m

¥9  The first National Park established in India is -
(A) Kanla National Park (B) Jim Corbett National P:

(C) Kaziranga National Park (D) Gir National Park
wITa ¥ it e ugig sa -
(A) #re1 T gam (B) o #ide Tfig sam
(C) @ridrtm ety som (D) fir eftg gam

FM2] 4.» 18



N IR TR LTI
" S st eqrntly among

o}

A

24 hoys, ench of them got T

we :
T LIBTI Y W feceival by each oy wlien the same amount I distrib

(R I ” L} [] i [
ﬂ-ll“:!-r:i I;II:: I e Wt s e o
e, POSY0 wipar b o) b, o) e omy el @1 0020 i i

m ”'E L1 Hl:t'? il ) 1y ﬂ'-”lrl Ilr Nt "I"" !'II uTl F-.T‘.h t | l'FH Tﬂ“ o i'ﬁfhfn
¢ (0 (I 211,520
iV M| “‘,] ? |2,'””"

-

|I-.n-\ :‘\ILIL“‘.n N W B hero an the end of 15 * 45 = 20 * 50 % 60 # 75 7
A A R T ok . N
:i.] () §

| (1 6
I it ']m.“.lr hlllll-.'llh,l I doliy who §s 16™ from left and Johnson who is g fron
vipht. Iterchinge teir posiiong then John becomes 33™ from left. How many stu
e Hhere w0 h '
MR IRIET ‘_'IIJM W aly ai ) N — ol ot o oA § B =
.“' AL AN R s T A K, T @ e @ 339 e w1 B W & ) AR
Pl i & 7 '
(A) (B) 40
(Al (D) 38 Iﬂ
WE=0L2=%3=5 g 4=9

J » then 5=17

MR- L2=3 3=5 ot 4= 4 §=9

(A 7 B) 5

(Y R ED; 9

acdima Nhushan Awardee Prabha Atre is associated with which one of the follor
(A) Flute (B) Vocal Music

(C) Veen (D) Sitar

TN R o Prefafe ¥ § Reed e & 7

(A) =g B) mrEgm -

(') n (D) foart ;

Ihe length and brendih of a rectangle are increased by 40% and 30% respex
then how much percent the aren of the rectangle so formed exceeds the area

originnl rectangle ?
MLV it w) ward ofy dharé wwar: 40% sl 30% Twm &) www, @ wra Snad =

et o & e ¥ feen wRier sorar w2 i®
(A) 81% (B} 82%
(C) 90% (D) 80% @

Whe built the Moti Masjid in the Red Fort in Delhi ?
(A) Aurangzeb (B) Bahadur Shah 11

(C) Jahandarshnh (D) Shahjahan
Pt & ww PR Y ol wfo w1 Pt e st 2
(A) ofrtmie (B) wegtyme fidmm
(C) orsfarvane (D) ymerel
19 [C
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Gﬁ Chowse the figure which is diflerent from the rest.
| -

79

80

82

83

an fra gb oo /@ am @

v o (B

e

Who is the author of the book titled ‘Unfinished : A Memoir® ?

(A) Kutnina Kaif (B) Anushka Sharma
(C} Privanka Chopra Jonas (D) Decpika Padukone
I&S "WATEHITS : U A S afamEa E 7 % i

(A) i & (B) Fq= o=

(C) st wwn wirrw (D) e wem fg

A 960 m long train is running at the speed uf3ﬂ1§kjn"!tr. In what tim
h man running at 76 m/sec in the same direction ? .

(A) 30 sec (B) 25 sec
(C) 15 see R (D) 40 sec
960 W7 "R T 37 360 fFNTE B W F v W ¥ 1 7% w9 2w
T 0 i W T5aF W § g son 7 -
(A) 30 &3 (B) 25%%=
(C) 15 ¥z (D) 46:31;: B
Which is the capital of Kazakhstan ? Eﬁ
(A) Yerevan (B) Baﬁl
(C) Astana . (D) Abuja
FHAEEHE & T 'k 7
(A) T (B) wrg
(C) s (D) 4=
L)

If + means x, x means +, + means — and — meafd -,
then what is the value of 18 x4+-7-3+62? \O
Mot xwmadt ot - ad ¥,

TR xdz7 - 3s6maA st ¢ e 9]
(A) 9 i (B) 19N
(C) 18 D) 8

Select different alternative from the following :
Pt ¥ @ P e @) i -

(A) 703 (B) 552
(C) 732 (D) 443

FM2] & 17



'JI ] I o
Jaddi Ll B R s dapn Tigniee
Fratdap | ' Wy 4 sy Wil eeqnplata (he given (ron m

: T ™ F —— ¥ "_r Sropeg -"?.':.'I" wr "fﬁ' ’F,'ﬂr F
-r L |A"f1
f 'L*’f

ATy llﬁ'"'F‘ i -
e

(A r'/q' -
T I " [/1
“r | b } . IQ/_

=2
'.‘I !J l‘l W r! Filw .-“"."J.l"ﬂ'i;f ”'r-l' l Y Y
‘ Hr.--.,,,:,!« i3 the: sehierme that aites 10 crenlc apiritual centr

leartizre thezve r""i'-rr.r rif '-’JII-FIH'I Thee munt ’
5 nalid ey

Ay FEASAL

() LAY fisy daan

Frrdinditat o 4 Prey o (13 HEIDAY ; :
g ¥ v (T2 thant 1y 2 whon o 5 Vot qrfoers 5 T
(Ay 9% (FRASAL,

€r 22 (1IIIAY (15) -zt (11daan) -

i etk (1) 7zr (HRIDAY) B

l‘ﬂ.‘ ff 7 ..II.E"J'L fhf_‘ﬂ' HIIII lf"; r,.H[”L._ of "‘Iﬂ"‘ ¢ gt 4+ 14 5{!’
wz u = 208, 7 ‘l"’f.r.r" v v |y By T mr A |

- { "'fﬂy‘i.rl
(hy 20352 wiir ea (13) 2.3524 5

Fi - F r
() 2.5342 (1)) 23502

08 [ind the odd man o,

?«fff’r aj,gﬁ Eg? r.’:‘- s ik
1257127, 130, 135, 142, 153, 165

(A) 142 e (13) 153
() 165 (1) 130
5 Which of the following statements is NOT true in context of cotton crop |

(A) Small slaple cotton is grown highest in India,
(1) Chujarat iz one of the leading cotton producing state in India.

(C) 50-1000 ¢ rainfall s ideal for cotton cultivation.

(1)) It is grown in both subtropical and tropical climatic regions.
frefufas o 7 anrn & ey A A M omm wh A Y 7

(A) W § w1z 70 7l worm 1 watis T v ¥

(13) wred o Tt (74 Wqe wA s U 4 W s |

(C) #nm & o % T 50-100 ad aed amd ot %

(1)) T tremare o e oty T v # o ¥

| 21
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Ll If & ney , T, Tl iy ANy ll‘rn1-\|_‘l‘||llll af o comiluctor in ””": I,
[ Wi RS e fEY AN

Shirremy | “l"--lll,'h the oprms=-sechiom M - T 8 -

‘ ; SR ICERFR BT T

MEILLALIE T vy :r-1-:--1 wrr a0 oo A TR . o

N ';1-".' r‘l’"l e

11h
(A b~ fe () 1=0ft fel
€ gy, (M 1=

: ure.
M Chiwme e correct water Image of the following figure

& nf 'IJT‘EF-"P W TEpE e ufafeer i

£

ITTITFF

" E ® |+
(C) @ (D) @*

M Declared by 1INESCO, Intemnational Mother Language Day is celebrateg
date 7

(A} Februarv 12t (B) February 10
(C) February 8t (D) February 215
mmﬁﬂﬁﬂmm@mfﬂﬂ &g orirg =1 T A ¥ 7
(A) 12 wrahy B) 10 w=h
(C) B wrah (D) 21 wead By

}{r_ﬁ) Amit Sahai has received *Michael and Sheila Held Prize 2022 for his -
in the field of ;

(A} Fconomics (B) Computer Science

(C) TInternational Relations (D) Tlistory '

A TETE WY & &7 ¥ % 9§ o e wes e k=
el £ '

(A) Zdames (B) w=gzy faom

(C) F=rdm W= (D) sfm m

101 Which of the following publishes the National Health Profile (NHP) p
(A) The Central Burcau of Health Intelligence
(13) The International Institute for Population Sciences
(C) The National Health Authority
(D) The National Institute of Health and Family Welfare
Wﬁﬁmmmmmm]ﬁmmﬂmﬁm
(A) &2 @ givm =0
(B) wdem fasm & s dam
(C) wZm mm= mitT

(D) Trea vd sfen wwm @ e v [
FM2] & 20



sy
I —=——1
LT ()

. M, Wi gy s wiloe aif o In !

air U5 (!

et w o =N R LA, IRET dehd =11
“] F[“ 1 -"'*u‘hl ko 1'l*‘il-ln‘""l"' LETL. N

(A) 5
(Cy 75 TITEEL
(12
(o Dol i the enpiig
(AY Syrln bt
(C) Chon Iy Turkey
A’ rarh k- (13 uinr
(A) Tirm o)
Cy ol o () ndih
{ (y me by PG

1 Inowhal time will o sin of ey doutle iself rm per unnum simple Interest?
3

(A) 16 years
: (1%) |H years

{C) 20 years (D) 13 yenrs

fret s A m ol r.%'!f. ulty o e e e A A 2

(A) 16 T X

© 207w (13) I8 Tm

(In |5m-.-r?1m

12 Three different positions of 1 dice are shown helow, 1low many doty lie apposite
two dots ?

T A A R Raft S b g K ) frgalt 3 frd o P B 7

I

() (i) (lihy
(A) 3 m) 5
(€) 6 () |

113 Which Tiger Reserve won the TX2 nward In Janunry, 2022, where its tiger numl
doubled 10 80 since 2010 7

(A) Sathyamangalum Tiger Reserve (1) Corbelt Tiger Reserve

(C) Kanha Tiger Reserve (1) Bandipur Tiger Reserve
w2022 # frw znfre frord A UX2 qrenr ofvm, Bl 2010 % wm @t @
T BT 80 W 7

(A) wormem 2 ford (B) wr¥z zfre Povd
(C) @ =t Prd (D) wrdge g ot (R
FM2] &4 23 {Cc
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Technola

” jth = '.:.mmunicutinn
| 7 ‘h—mmauc.mr is mmﬂ-”"] o (B) gpncc Technology
(A) Delence 'I'-:thrlﬂlﬂt":" : D
() covip Aanageme, L - s
vy 7 A rHMlnﬂtkallﬂ“Iﬁm (B) H-ar!ﬂr.i‘rdrﬁmﬁ‘f ﬂﬁ 5
(A) el Skl g (D) staft gretfirat
() wifw ¥ he correct option :
: choost
108 Consider the figure given? below and
Acl!h-u::-‘l Comples

dinate —

ard reaction is E,

forw + E, and product is less s

Activation enerey of
vard and backward reaction is E + Ex an

(A)
reactant. :
(B) Activation energy of both fory
product.
s E; and product is more S|

is more stable than

(C) Activation ¢nerey of backward reaction i
reactant.

(D) Activation cnergy of {orward reaction is E|

reacilant.
ﬁmﬁﬁaﬁﬁmmﬂuﬂuﬁ: i

+ E, and product is More s

#r R @ fF T
wiefm 639
/"
B i
EHEILE E"'..
!

(B) Wmmﬁm@El+E:%aﬂTme
..t L mﬁwﬁ“:*&%mmﬁmﬂ
q5g 2 :
(D) Mﬂmﬁmmwml%&ﬂ?m B
wﬁﬁﬁgﬁmxwmmﬂ:gmh
' ' TqIET R

2] &«
22
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e

(N

123

TR

W s Ilh.n-..m," ,
‘ ﬂ "a 1
'.‘:‘ Il'll‘.\.. Nowy | \ Wiy 4 |
i "“‘“1“1‘44: LT Ark |y hmmh' by 1932 4
I Mahwmn Clandhi
" UM 1 Anibedka
M vy w7
Y womn whify
Arange the 2

: t'n'll.‘..“in‘ () @ amr, amiemy Iﬁ
W particles . B sy,

: Mg i s E .
walk, sxugar, h droge, ‘ |I]"'L'r"'“"“""‘I:& order of lorces of aliraclion between
LAY sugar - milk < 4

M .
T L€ B

L
T SURAr ~ by dive L1 Mogen - " o
¥ iy Sty “-'""" il (M) hydroden < sug

g (1) hydrégen < milk < sugar
W 0, SR H“ﬁmﬁwj e,
A T o

T ":I'Tl‘li'[II | umiiay wt -

N :
A E-E (M) wregihd < iy < gu
Which 'l"ln"lgr:“""“: ol ¢ {D] \ s 'IT&T'{T

. N TI'“,'LH 2 -
technologies ollowing 5 hay Fm.““'“ ol Indin aims for

o 1511¢ :
l-_"i-] hﬂl'l.'ll"-l.“p“nul ljn“-“t"un e n]‘ipmm.h

developing and integrating
g 11 .
(Y Craflsmen T b

in identified nreas ?

lining ST Yol () Udﬁfﬂb | -
WA wTE e (D) Technblogy Development gramme
m*amm ';‘raﬁﬁhﬁﬁﬁﬂﬂmﬁmﬁrmﬁmﬁa‘rﬁMﬁ
mE ? L
A Tl mmivor e e (B) sar® ‘
(©) vt wfimer oy o= '_“Ff-f% pems . RS
The ratio of number of bovs ang b

- it girls in a school of 820 students is 3:2. How man
more girls shauld be Joined :

: W0 make the ratjo ksl 7

(A) 164 girls (B) 150 girls

() 170 gins  \wa- (D) 160 girls
ﬁﬁm%%_ﬁﬂﬁﬂfﬁaﬁmﬂﬁﬁﬁmﬁ%mhﬂ | I Ll
% fore et oft et = anfr w2 .

(A) 164 wefne (B) 150 Wrsfmai

(C) 170 wefwg (D) 1&{1{@%&

Choose the correct option : S

The magnetic field on the axis of g long straight solenoid-carrying current -

(A) increases as we move away from its center towards its end. ‘
(B) remains unchanged as we move along the axis of the sa!:nu_md.
(C) first increases and then decreases as we mnvilc j_aklnng j.hc ax15 of the solen
(D) decreases as we move away [rom its center lﬂflards s end.
T freeq gt - v
mmmmmmaﬁmnw@ah-
A T iwmM At | o
(B) uftafira e T 9T g L3
o
Gl e

s fat o e

3

U Fﬁ
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4 JT+=mw
ﬂﬁ o W = - : \
(A) 15+5+ 1-;-:?;_532
(C) |5:5-IJ':' r i)
auntr!
115 Which of the Fﬂ!lriwing-"!]"
{A) Myanmar e

(C) Nepal
fre o & a¥a
(A} =TT
(C) Awa -
i) : i
116 In below given figures, -l}"'ﬂ' s ?
the num

will uppear opposite L0
91 frd may forst #, i @1 A

BHFP

(©) 2 )
il

O s pot

et staternsit o2t of 4,

b is the o v ok

l, 1-5_‘5/?‘3"‘24;:'—":?

gmber of BIMSTEL 7

m
: (B) Thailand

r-nj MHIUEUEH

% Y 7
3or P B TS5y ek
(D) "

pnﬁiﬁﬂm of a dice are shown, wh
7

ber 3
e fafral Pt 1 %, vt o s, sy

(B) 4
(D) 5

117 4 years ago, the average 82¢ of A, B, C was 41‘.} years. With D joining them
average age of all four 545 years. How old is D ?

1)

(A) 48 years
(C) 42 years

(B) 46 years

(D) 50 years

T T wEe A, B oft C 9 shwa omg 40 od o | wfur & D % g
ul T emgdSmd g, DA W T ¥ 7

e

(A) 48 74 - I."‘:f; (B) 46 od
(C) 42 of e (D) so=df |3
1=

18 Atin of oil was >

Q)
poured into it, it was

L)
3 full. m:n 7 bottles of oil were taken out and 3 bottles of ¢

E’ﬁH. How many bottles of oil can the tin contains

3

:}mmmh;mmt:m?mﬂﬂﬁmwmwﬁEmﬂﬁw
T I 0y

ol 5. mt:ﬁwﬁﬁmﬁﬂﬂﬁﬂﬂm?

(€ 12

e
24

(B) 14
(D) 18

By
[Cor
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0 Queen Elizalyyy,

W

31

32

* Wha o,
AT g Ol o ssed

. viy recently, riled for how many years 7
T )
U 'JE BT R S P pan, & e s g e ?
() (131 ns
() 55
Choose the aliem

Mive wii: ' ‘
figure. Whig)y closely resembles the water image of the given guestior
w e = gt o e
Question Figure / uyy _ﬁ T uyy W & we yiyfrs ® feyeren TN &

& f P -
Answer Figures / 397 Wfat

A ;
(e o ; b (B) E?U
-0
q
ggj:' v b

‘Petuaghat’ is developed as a lishing harbour, 1t is situated in —
(A) West Bengal (B) Tamil Nadu

(C) Kerala (D) Andaman & Nicobar
Tz W Menrst & T Y fasfm moor b oo Rma ¥ -

(A) wiyedt dmmer o (B) wfterrg o Y
(C) & H [D]Wﬁﬂﬁﬂeﬂﬂﬁﬁ

Consider the following statements :

(1) The First Woman President of Indian National Congress was Annie Be

(2) The First Muslim President of Indian National Congress was Badruddin ]
Which of the above statemen(s) is/are correct ?

(A) Only (2) (B} Both (1) and (2)
(C) Neither (1) Nor (2) (D) Only (1)
Frefefea so1 ot faar =% -

(1) w&ﬁﬂnﬁtﬂmﬁnmnﬂmmﬁﬁ?ﬁll
(2) v T W % wow giem e e e U |

0@ A B w wu/HuA w g S |
(A) Fa7 (2) C @) (1) ¥ ) 2R
(©) (1) a7 (2) O F== 1) B

27
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acy ol - Myanmar
124 Nenitewny iy ity Ciency n (1) South Kores
(AY K sk st () !
) Myt _
1) s of .

VLRI | (
(A} mmsyy L (1) wftror ey 7y h}
() e my

“internntionl tryly ol India is (rg
\ fape of tofal volume of infernntic
125 Wi Pereentape

AR N ey % AT W
Ny wpre o} stsar i ferar gfy : rans
Mt & 4Ir1.[|n._]rl Y - )5
(A) & oo

() ns

126 10 Ilghent ritway beldge In lodin iy bullk on Which
(A) Chennh

river 7

(n) Satlyj
D) R vi
(C) dhelm O ; PJ a
WG w1 ) gy e qw faw & -
(A) Vg D T:hﬂwr
(C) ¥
'S Inrpeyy Rubber dum iy built on riyer .

7 ;:T"';m’:r"‘“" (B) Durgawa;
(€) Ganag () Falgy
'rrmwmc}mmwﬂmﬁmhwrwt ?

©) wey ) vy e
128 Given b

low are gome mr’crnl'lcse‘unzy 25/bi,

Mesbionetiye Molecyles with thej
(n) Hrmpmklnnsc i) Acig prodice

b) L':,*ulu.w'porl'nﬂ

(c)

lostridiy, butylicymn,
() Onisey g

Purpurey s (iv) Immyp
T3 ke Frrafig

@ Suppressjye agent
/ T % W g fig my &
(n) é'ﬁﬂrm;:h '

! (i) TG Teqrees
(h) ity A ii
(©)  wih

MR
reet jge and thep select ap APPropriate ppyrio .

o i T R 7y oy Frrsg

(A) (a)-iii),




t "I\-Fhl.'l Wis I ‘“ “

Al Ae Sl :
lc". \L_h"—} LY ||~|”|:“I Wi Socinlis Party 7 %
{ r.len i Nitpep : " (1) Jay Prakish Nurayon
FRTT Tt N P [y (1) Swami Sahjounand Sarnswirli
() ST g T M iy
(CY I 5 - (13) rawm

(1) Tamh T TOER

© PMick om the ligure .

TH WFA W da o h;l h most appropriately complete this serics.
Question Figures s - HTFIT W 3fim w1 ® g wa b |

ST

Answer Figures / oy y : '

———

(A) | {m_ :,_-:.E

© [A o A &

—

' What is the wriling direction of Saindhava Script ?

(A) Left to Right (B) Vertical Line
(C) Horizomtal Line (D) Right to Lefl
e A TEr Rmaa @t 3
(C) d&fr= Tan - (D) =fEA & 7l
Given that
(I) A is brother of B. (I C is father of A.
() D is brother of L. (IV) B is mother of E.
TR E -
(D ABm =gt () C, A @ e ¥
(1) D, E &1 %% % 1 (IV) B, E Fr = ¥ 1
then Matemal Grandfather of D is :-
@ D& e - "!:_ g
(A) A g Fi_ (B) B
(C) E o D C
2] &7 29



L Alikan L ARE l'\'I.lI AD ':'fn-rr' cch ﬁrT‘ﬂH c‘.

g 2

¢ hinn

jowid I1'||I|t‘1.l with
[l” I'il-lii:-‘ulnn

AN D e Dot ebwellinn

iAy Sild ik
i ||J||1p|.‘l+.||.'~ih
ainure (hmte gpafar W an & 7

(A el ]
TR Ukt 1
e WaY. [:stublish the same relationst

10 Fig g o () 200 related I0 0 PR the given alternatives for Fi
: . " o nptmn roim L ig.
() o {(ah) choosing l'l'"-"-l (c) 7 'fll 3 W (d) ¥ P i
Pyer wwrt firs () (h} - ) (d) T
a0 uf hnr.nwf_[:rm'trrﬂ""’*“ %
Question Fignres /urd srpfrrl

{a) (b fc)
Answer Flgures | I mfﬁ'ﬂf e

(A) ‘ ()

=
() (D)

135 I a<b. d > c and a<d, then which of the following must be true ?

" (N b<c () e>a
Only
nly (1) (3) Neither (1) nor (11)

(C) Both (1) and (I1)
At a<h d>c ot a<d, @ ﬁqﬁﬁaﬁi[;!r %%[:;Lﬁm% 7

qﬁih (A) ~‘g‘f‘-'!jl?'l ?I:]:c e =
A7C (© @ ohw (1) 2 Elr?l Qﬂ}?mﬁ o
136 Pick out the odd one
. from the following :
ot 4 Rfa-q-q s . ollowing :
(A) "PID e XV
(C) MGE SRt
137 gAY A
“Part™ is - -
0 Ci:-::lflmcd lo “Whole™, in the same way as “Arc" is rel
gg Lo | (B) Triangle e
i * (D) Trapezi
D aw g e % I v 'ETHF::;W%
(B) Brm @ _

(C) =i g 5
SECEEF Rl
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U LU I (TR LYY (1T LRI
A S I i Sutigany Llerature was known as -

WY N () Pulayan

O TT E T g 1y it (N Vellar

LAY g L mm oy
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